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General Instructions :

1.
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections.

All questions are compulsory

All questions of Section-A and all questions of Section-B are to be attempted separately.
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence

. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

. Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.



9. Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

W37 / SECTION-A
1 ST9 &1 919 SR fepterd € <1 a1 6w fdfad s T2 8 ?

When we breathe out, why does the air passage not collapse ?

2 SI

Define the SI unit of potential difference.

3 T & Th ] & o ¥ 3 g el el i At i Saed Fishal § e % 9 gRI

3T Selt © o feRfSTg |

Compare the energy produced during fission of a uranium atom with the energy produced
with due to combustion of a carbon atom from coal.

4 ThTRT GEerIol Uiehar o foru, Sud wfmferd at geredl st eTaensii & Udiehl ®1 oo & gy,

Write a balanced chemical equation for the process of photosynthesis with the state symbols
of all the substances involved. Also state the conditions of the reaction.

5 Ycdeh o1 Teh- Teh SCELU SIelu :
@
i)  fogd = Feme A SR forE @
Write one example each of a :

(1) Metal having low melting point and a non-metal having high melting point.
(if) Metal which is poor conductor of electricity and a non-metal which is good conductor
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of electricity.

6 dfret Ut Gy o1 e Amiferd 3T difaw | 2

Draw a neat and labelled diagram of neuro-muscular junction.

7 Teh THREH AR I STat i T HSRA T FLH & ford ST H a1 S ¢ sH afshder 6 3
I foran Smar g1 Aifiren
fTor it Tt e fafed |

A chemical compound is used for removing permanent hardness of water. It is obtained from
baking soda. Identify the compound. State its chemical name and formula. Write chemical
equations involved in its preparation from baking soda.

8 =1 Tt sAfufsmanst § 9 g o fod 31 Ja fafed - 3
(i) & & THl | 9
(i) o e faaem ¥ wrefimy smeiers faae <o S §
(i) TP H3N I Sl T § o€ A1ZeS i T aeh T4 fopann Sran ® |

Write two observations each for the following chemical reactions :

(i) Dilute sulphuric acid is poured over zinc granules
(ii) Potassium iodide solution is added to lead nitrate solution
(iii) Lead nitrate is strongly heated in a hard glass test take
9 Tegfafay sifEs g fSe iaEe o1 I BT & 3

3 STFATSS] hl 9T hel ST © 2 Tdeh =21 H THEfeh Tt fafad |

Aluminium oxide and zinc oxide react with both acids as well as bases to produce salts and
water. What are these oxides called ? Write chemical equations in each case.

10 =1 & R e 3

() 1 1T % U H W Tohd § oAfeh didl & 913 | feer e faeem
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() 5 &t a7 Tefew sma 9 sifufsren TESem 19 3o T8l o |
(i) T e % fessi W S *Y sten fo7 w1 W Bt T
Give reasons for the following :

(1) We can store copper sulphate solution in a silver vessel but not silver nitrate solution
in a copper vessel.

(if) The reaction of zinc with dilute nitric acid does not produce hydrogen gas.

(iii)  Food cans are coated with tin rather than zinc.

11 TS 99T o T SAevge =R 31 fafgu | 39 393 fafaw

Write four components necessary for autotrophic nutrition. Mention itsby product.

12 e forti o aredi =Rl <1 wehR it Tifaat <uIE TE €

A - Sensitive plant

(@)
(b) <% fau & fafey o S w o Tifg fomg W stemen Sod X it 7

(c) U HAT H (A Tl Teh 0T K hiTord |

Two examples of plant movement are shown below :

B N gt
e "t NG
BRI i\

A~ Sensitive plant B - Pea plant
(@) State the stimulus which is common for movement in both the cases.
(b) Mention separately for both, whether the movement takes place away or at the point
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where stimulus is received.

(c) State one reason for the movement in each case.

13 e | Sl IRE=0T BT 9U HITSTT | SHeh] SATEehdl & © 2 3

Describe double circulation in human beings. Why is it necessary ?

14 3
HIFSTT | 1 B At ufferent § wafed &Ry skt fosm o1 Sohfad L fean Sy ? =mea shifey |

Can a freely suspended current carrying solenoid stay in any direction ? Justify your answer.
What will happen when the direction of current in the solenoid is reversed ? Explain.

15 f - 3
() Y gNEE = % GRS 3 gk &7 |

i 4

(i) B Ih h HRU TREH TROY H el Tefed H RedA o RO Uid 9n |
State the rules to determine the direction of :

() the magnetic field produced around a current carrying conductor.

(if) a force experienced by a straight current carrying conductor placed perpendicular to a
uniform magnetic field.

(iii)  acurrent induced in a circuit by changing magnetic flux due to a bar magnet.

16 el foga dfme 701 Q, 2 Q @R 3 Q F ufus uRd wAE W HAfad €1 a3

1 Q% gfalgs 91 1 A & fo9ga 9/ yarfed 8t 8, a1 19 <1 Wfadigehl O yafed foga 9w 9«
i |

Three resistors of 1 €, 2 Q and 3 () are connected in parallel in a circuit. If
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1 Q) resistor draws a current of 1 A find the current through the other two resistors.

17 ‘ 3
g’

() S Y F HUT Y HeHA § 1A TG 2 T I o+ e 3fea wwron fafau

(ii) M fafae fS7eh ST | TAN T=iew &l HF Ead © |

(1) ‘Mridu says that if we start living as our ancestors, this would conserve energy and
our ecosystem.”’ Do you agree with her or not ? Give valid reason for your answer.

(if) Name any two sources of energy which give less danger to our environment while

being used.

18 Ife Ieil 1 7 1 3= Toran ST Fehal & 7 & T T S Wehd1 © 91 T SeRL01 g1 9T fom gl 3
STl Edl bl o= ol Rt =eT ?

‘gy can neither be created nor destroyed, explain with an example as to why we should worry
about our energy resources ?

19 (@) %R ® I H e Y UG die Y5 e el i % uft w6 fafy w6 =0 5
gifad |
(b) = sfafsranet < fag TamEte gHem fafes
() N gewEe w1 a9y § <@ |
(i) & FEe F =
(@) Copper produced by heating the ore in air is not very pure. Describe the method used
for refining impure copper. Draw labelled diagram of the process.
(b) Write chemical equations for the reactions taking place when :

(i) Zinc sulphide is heated in air.

(if) Zinc carbonate is calcined.
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20 () T sAfufshensti 1 stereiien femam T
i)  CuSO4+Zn— ZnSO4+Cu
(i)  3ZnSO,+ 2Al — Al (SOy), + 3Zn
(i) 2AgNOjz+ Cu— Cu(NO;),+2Ag
Cu, Zn, Al T2 Ag
(b) T 350 Gfed g oo sifufsran w1 fafed s w1 2t €
() (i) WFIERH

(@) The following reactions are observed to occur :

(i) CuSO4 +Zn— ZnSO,4 +Cu
(if) 3ZnSP,  2Al — Al, (SO4 )3 3Zn
(ili)  2AgNO3+ Cu — Cu(NO3), + 2Ag

Arrange Cu, Zn, Al and Ag in decreasing order of their reactivity.
(b) Write one example each of decomposition reaction carried out with the help of :

(1) electricity (ii) sunlight

21 (a)
(b) = aRfEfqEi o SR EF ol steereen s AW fafed |
() s B 1 FHH Feor BT
(i) Il TR 1 Afees | Feor A
(iii)
(iv)  STEEH i wH
(@)  Define hormone. Write four characteristics of hormones in humans.

(b) Name the disorder caused by the under following situations :
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i) Under secretion of growth hormone

(
(if) Over secretion of growth hormone
(iii)  Under secretion of insulin

(

iv)  Deficiency of iodine

22 Ry, R, TR, &, & HaH &1 e wfaid R fAeifa
20,3Q0°7607%F &
TS 1 e iy aReRfaa i |

Establish a relationship to determine the equivalent resistance R of a combination of three
resistors having resistances R;, R, and Ry connected in series. Calculate the equivalent

resistance of the combination of three resistors of 2 ), 3 ) and 6 () joined in parallel.

23 9 Gt T | fordt forgauramE! JaekRr fuedt &
HRT T

What are magnetic field lines ? List three characteristics of these lines. Describe in brief an
activity to study the magnetic field lines due to a current flowing in a circular coil.

24 (@) Rq faEa oMY aedl A Hecrqel @eivll w1 e § o i
(b)  =e aREel § SIfqume oiR Seue % o faues & 9 < d&l @ g SR |

(@) Describe in brief any three important features of domestic electric supply lines.

(b) List two distinguishing features between overloading and short  circuiting in
domestic circuits.

&/ SECTION - B

25 = i wEaferat & foet fed o ¥ ) RS shEen 99 HCl 9 U9HTEsE 310 SR 9re o1 faaa ©
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a1 HCl LRACCRIEED e[ <1 foer@

(@ 1 pHI % pH ¥ 21 2|
(b) I pHISRII® pH ¥ e T
() LILII  pHSR |

(d I pHI=T IS pH I &1 T

Given below are diagrams of three test tubes containing dil. HCl, dil. ethanoic acid and soap
solution.

dil HCl dil ethanoic acid  soap solution
Choose the correct statement :
(@) pH of 1 is greater than pH of II and III.
(b) pH of 11l is greater than pH of I and II.
() pH of I, 11, Il is equal.
(d) pH of 1l is greater than pH of I and III.

26
(a) TR SEIHTES
(b)  Hifeaw wANEeS foedq
@  Us¥4
(d) T SRS 3T
A drop of colourless liquid is poured over blue litmus paper and it turns to red. The
colourless liquid is :
(a) potassium hydroxide solution
(b) sodium chloride solution
(o) pure water
(d) dilute hydrochloric acid
27 4

Tegfafran faeenfad 2 et §
()  CuSO, & fa@@d T wW &1 (i)  FeSO,
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(i)  ZnSOq (iv)  Aly(SOs) % faereH © Tqffr=s =i
(@ (), (i) (@iv) (b) (i), (i), (ii)

() (i), (i), (iv) (d) @) (i), @)

Which of the following statements are correct ?

Aluminium can displace :

(1) Cu from CuSOs solution (if) Fe from FeSOs solution
(iii)  Zn from ZnSOy solution (iv)  Alfrom Alx(SOy) solution
@ (D) (), (iv) (b) (), (i), (iii)

(€ (i), (i), (iv) (d) () (i), (iv)

28 farermae srfufemran e o Af<ar 3 f= g o -
() e g I S
(i)  foere @ &0 8 S

@)  dian iR fSiw Tethe w1 faeam

d) 3T 3R HIR Gtk H faerm

On carrying out a displacement reaction, the following observations were made by Nandita.
(i) Formation of Reddish - brown deposit
i

(if) Solution turned green.
The reactants she used were :
(@) Copper and zinc sulphate solution
(b) zinc and copper sulphate solution
() copper and ferrous sulphate solution
(d) Iron and copper sulphate solution
29 A SRB

H ol oiig Yaa STefl M1 AR -, S,

Tfafm gethe faead [A] | ST 9ethe faerad [B]
| G faerd gesw gU B T | oot s e 31 e @
S | TTE faera goht Hiet 8 T Q18 =T

TTEH faere o & aftedd &l | e foeem 80 81 T

e 4T iR -
o s % g0 9 Yl @ TR E, Tw T
(@) S (b)
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Aluminium sulphate and copper sulphate solutions were taken in two test tubes A and B

respectively. A little iron filings were added to both the test tubes. Four students Ram, Jeet,
Rita and Anita recorded their observations in the form of a table as given below :

Name | Aluminium sulphate Copper sulphate
Solution[A] Solution [B]

Ram. | Colourless solution Blue colour of the
Changes to light green solution is retained.

Jeet Colourless solution changes | Blue colour of solution
to light blue changes to green.

Rita. | No change in the colourless | Blue colour of the solution
solution. changes to green.

Anita | No change in colourless Blue colour fades away.
solution

The correct set of observations have been reported by student :
(@) Jeet (b) Anita
() Rita (d) Ram.

30 T U9 H A 1Q, 2.9, 6 Q, 12 Q FfaliThF =GR yfRigsw Joised # wafed fhe e a1
B ST SAfershan Ffakie B Tehal © -
(@ 210 (b) 18 Q (c) 60 (d) 40
In a circuit four resistors of 1Q, 2Q, 6 Q, 12Q respectively are connected in series
combination. The maximum resistance that can be obtained is :

@) 210 (b)  18Q © 60 (d) 40
31 6 P,QR 1
T iR =AaH A A §
P
Q R
(@) P3RQ
(b) Q3RR
(c) P3RR
(d) Q&eRRTPSRRIA T
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Six equal resistances are connected between points P,Q and R as shown in figure.
Then the net resistance will be minimum between

P
Q R
(@ PandQ
(b) QandR
(0 PandR
(d)  Both between Q & Rand P & R

32

=01 © Toh TonTs1 TYOT & foTT oRTeT Rl €T 2AT99Ee B

einiek 67257 4 Rapatata WATER

o ] ALCOHOL sl pte) ALCOHOL Aok WATER
SIiiisi-ii4+- ALCOHOL 3

‘3 ALCOHOL  [ZiTTEiig- WATER

@ 1 b) 1 (€ I d v

The figures given below illustrate boiling of leaf to remove chlorophyll. This is one of the

steps in the experiment to show that light is necessary for photosynthesis.

s DO WATER 7 | ALCOHOL 4 1] ALCOHOL -7 |2 WATER
SiIiTTTTRii3 ALCOHOL TIiITTTTiii ALCOHOL Siiiiiio-ii3- WATER Siiiiiioi-ii3- WATER

) (1) (I1D) (Iv)

The figure which shows correct method of boiling is :

@ I (b) I () I d) IV
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33 Y % SR CO, IS BIdl €, S o YrEifTeh ¥ 319 §, KOH faeia &l wa =ifed - 1
(@) SRH (b)
© AR d) IR T TE S el o

In an experimental set up to demonstrate that CO; is given out during respiration, the KOH
solution should be kept in :

(@) the beaker (b) the bent tube

() with the seeds in the flask  (d) in a small test tube in the flask

34 2

Write the colour of following chemicals :

Copper sulphate, Quick lime, ferrous sulphate, Barium chloride

35 S o 99 1 GaTde id 99 TRET ST J UISamhl o Yoieh H=ad & o0 UfeRiesh o Tfe &1 2
fteher foran | g wfadier & 3 7 gfaderes & ardfas qF § 9 9= &1 3 sueR yEe a8t 11

17 37T IR I gfte HIfST |

A student while verifying Ohm’s law calculated the value of resistance of the resistor for each
set of observation. However, the values of resistance were slightly different from the actual
value. Is his experiment wrong ? Justify your answer.

36 Iy TuIid g faefen & oo i fercedt 1 va s/emft ST TaR s & fore fonddt fommeff 61 ot & 2

To prepare a clear temporary mount of the petunia leaf peel showing stomata, from which
part of the leaf the students should get the peel and why ?

Page 13 of 14



-0000000-

Page 14 of 14



